THOFERAFABRKER

SMefE7A18REA

SEAH: 24

1R SHE6ESA 128 (B) /2K HER: FF6ES5H29H (K)

REL (BEHR)
2= 1RARERE 2RARAIEE (BFEH)
= TESCERER )+ TEMERE IE AR

E& | ch#k [ w#k | & E& | ch#k | w#k | & E& | chdk [ w#k | &

3 | 1 [ 4 2 | 1 [ [ 3 [ 1 [ [ 2

fH6E10A 1HIRA

SEANBHHETIREE

TRAER: FHMEF6A 168 (H)/2RHER: FF6E7A3R (K)/3RHAER: FM6F7H298 (A)-308 (k)

—REEFE
sEBE 1REBREEE BRAREIEE (BEEH)
= M52 1+ T3+ EIE | : TEERER)
F& [ ik [ W&k [ & E [ ik [ W&k [ F E& [ ik [ W&k [ & F [ ik [ W&k [ &
23 | 2 | 5 1 30 i5 [ 1 [ 2 1 18 10| [ [ 10 8 | [ | 8
REEED (B EHB)
ZaE 1REABREEE 2RREBEIRE SRABEEE (BEEH)
= TESCERER 1+ TEMRE E-SSiH IE AR
E& | chdk [ w#k | & E& | chék [ w#k | & E& | ch#k [ w#k | & E& | chdk | w#k | &
P [ 3 P [ 3 P [ 3 [ 2 | [ 2
REL (BEB)
B 1REABREEE 2RABREIEE BRAREIRE (BEEH)
= TESCERBR )+ TEMERE k-G E I HEELBR
F& [ ik [ W&k [ & F& [ ik [ W&k [ & F& [ ik [ W&k [ & F [ ik [ W&k [ &
[ 1 1 [ 1 [ 1 1 [ 1 [ 1 1 [ 1 [ 1 1 [ 1
IR (BER)
s TREBRAIEE SRAREIEE (B EEH)
= TESCERER )+ TEMERE : IE AR
E& | Rk | Wk | & E& | ik | Wk | & E& | ik | Wk | & E& | ik | Wk | &
| [ [ o | [ [ o | [ [ o | [ [ o
BE (5ER)
B 1REABREEE 2RABREIEE BRAREIRE (BEEH)
= TESCERBR )+ TEMERE k-G E I HEELBR
F& [ ik [ W&k [ & F [ ik [ W&k [ & F& [ ik [ W&k [ & F& [ ik [ W&k [ &
| [ [ o | [ [ o | [ [ o | [ [ o
B (HHA1E)
ZaE 1RABREEE 2RABREIEE SRAREIEE (B EEH)
= TESCERER )+ TEMERE ESSiE IE AR
E& | chdk [ w#k | & E& | ik | Wk [ & E& | chdk [ w#k | & E& | chdk [ w#k | &
| [ [ o | [ [ o | [ [ o | [ [ o
o )7PVS—8
B 1REABREEE 2RABREIEE BRAREIERE (BEEH)
= TESCERBR )+ TEMERE k- SciEE I HEELBR
F& [ ik [ W&k [ & F& [ ik [ W&k [ & F& [ ik [ W&k [ & F& [ ik [ W&k [ &
| [ [ o | [ [ o | [ [ o | [ [ o
SM7E4A18EA
ggﬂén BEHE OHOETIRIEE/ZTOMDE 5R1EE
8 —hg TI0RTEE/Z DD SRIEE
‘Iﬁkéﬁgﬁz'%ﬂ(iﬁgﬁlzzﬁ(E)/2;§ﬁ§§:’%$ﬂ6¢10ﬁ1575(*)\185(%)/3&%‘:\':5&:’%*[]6&11)518EI($)"I‘IE(H)\13EI(7K)
—REEEE
2= 1REABREEE 2RREBEIRE SRABEEE (BEEH)
= M52+ X+ TEIE | =SS E I fEaER)
E& | ik | &k | & E& | ik | Wk | & E& | ik | Wk | & E& | ik | Wk | &
54 [ 15 | 8 | 717 22 [ 4 [ 3 [ 29 8 | [ 2 [ 10 5 | [ 2 [ 7
1R26D (B EHB)
B 1REABREEE 2RAREIEE BRAREIRE (BEEH)
= TESCERBR )+ TEMERE k-G E I HEELBR
E& [ ik [ W&k [ & E& [ ik [ W&k [ & E [ ik [ W&k [ & E& [ ik [ W&k [ &
71 | 8 6 | 1 [ 7 5 [ 1 1 | 6 2 1 1 | 3




Bt (HE8)

sEBE 1RABRERE 2R ABRERE SRABRERE (RBEEH)
= TESCERER 1+ T HERE ) ESSiH IE AR
E& | chdk | w#k | & E& | chdk [ w#k | & E& | chdk [ w#k | & E& | ch#k [ w#k | &
7| [ [ 7 4 [ [ 4 3 | [ [ 3 2 | [ [ 2
KR (BER)
2= 1RABRERSE 2P AR EREE IR ERE (REEH)
= TESCERER 1+ B HEARE ) =SB IE R ER )
E [ ik [ W&k [ & E [ ik [ W&k [ & E [ ik [ W&k [ & FfR | chfk | Wk | F
| [ [ o | [ [ o | [ [ o | [ [ o
TR (FR)
sEBE 1RABRERSE 2QABRERE SRABRERE (RBEEH)
= TESCERER 1+ T HERE ) ESSiH IE AR
Fi | ik | Wk | F Fi | ik | Wk | F Fi | ik | Wk | F Fi | ik | Wk | F
| [ [ o | [ [ o | [ [ o | [ [ o
BE (5ER)
2= 1RABRERE 2RABROIEE BHARERE (REEH)
= TESCERER 1+ B HEARE ) LS IE R ER )
E [ ik [ W&k [ & E [ ik [ W&k [ & E [ ik [ W&k [ & Ff | chfR | Wk | F
| [ [ o | [ [ o | [ [ o | [ [ o
BE (B
sBE 1RABRERSE SRABRAIEE (BFEH)
= rese )+ ME3x)+EIE ) IR
Fi | ik | Wk | F Fi | ik | Wk | F Fi | ik | Wk | F Fi | ik | Wk | F
[ [ [ 1 [ [ [ 1 [ [ [ 1 [ [ [ 1
B5 (HHE)
2= 1RABRERE 2RABROIEE BRARERE (REEH)
= TESCERER 1+ B HEARE ) =SB IE R ER )
E [ ik [ W&k [ & E [ ik [ W&k [ & E [ ik [ W&k [ & FfR | chfR | Wk | F
| [ [ o | [ [ o | [ [ o | [ [ o
B5(EL)
- 1 AR A NS 2RAREHE SRHERAHE (2B
= TESCERER 1+ T HERE ) ESSiH IE AR
E& | chdk | w#k | & E& | ch#k [ w#k | & E& | chdk [ w#k | & E& | ch#k | w#k | &
| [ [ o | [ [ o | [ [ o | [ [ o
—MEF(EES (BEEE) ]
2= 1RABRERSE BRARERE (REEH)
= TESCERER 1+ B HEARE ) : IE R ER )
E [ ik [ W&k [ & E [ ik [ W&k [ & E [ ik [ W&k [ & FfR | chfR | Wk | F
[ [ [ 3 2| [ [ 2 1] [ [ 1 1] [ [ 1
—HEEFEDXIRERE]
- 1 AR A NS 2RAREHE SRHERAHE (2B
= TESCERER 1+ T HERE ) E-SSiH IE AR
E& | chdk [ w#k | & Fi | ik | Wk | F Fi | ik | Wk | F Fi | ik | Wk | F
| [ [ o | [ [ o | [ [ o | [ [ o
— RS EFF (TS IRERE ]
2= 1RABRERE BHARERE (BEEH)
= TESCERER 1+ B HEARE ) IE R ER ]
E [ ik [ W&k [ & F& [ ik [ ok [ & F& [ ik [ W&k [ & FfR | chfk | Wk | F
12| [ 1 | 13 9 | [ 1 10 5 | [ 1+ [ 3 | [ 1 1 4
sM7%54R188H
FEimETE
A
1REHER: SFI6E108 208 (B) /2R : ff6&E11A8E (£).118(A). 138 (K)
REL (BEHR)
sEBE 1RABRERE 2RABRERE (RBEEH)
= TESCERER |+ T EMRE IE AR
E& | chék [ w#k | & E& | chdk | w#k | & E& | chdk | w#k | &
2 3 [ 5 i 2 [ 3 [ 1 [ [ 2




